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(B¥%44) G ) No.9 L=20.0 (A AR~
BEANAE o= 90 ° (KFir &Y Fx) BEAL d= 60 mm
WMiEE P= 1 MPa FIESs »g= 1.000 =60/d
HeETEE W= 65 kg FTRIE Pg= 035 MPa
WHERTE F= 862 kg (=281P+Wsina) AHZHTEEIE 1S 0.324 =Pegs * F * s
WERTESE pe= 0926 =F/93.1 fa SUE 0.8 MPa
e | EONRE | BT (FTRIEYS 20| o
TAEE T m | s | aammsnsg |7 o 2T ESR e e Gk, R 0 W)
(ss) (m/min) (m/min/MPa)
0.0 0.40 (402 77 B )
0.1 4.0 15 4.63 0.40 R - 518 mE L
0.2 4.0 15 4.63 0.40 iR - I 48 A 1
0.3 5.0 1.2 3.70 0.40 WO IRH 48 RfE 1
0.4 5.0 1.2 3.70 0.40 W IRH 18 g
0.5 4.0 15 4.63 0.40 W IRH 18 AfE
0.6 4.0 15 4.63 0.40 WO IRH 48 AfE
0.7 7.0 0.9 2.64 0.40 YIRS 1 518 g -
0.8 7.0 0.9 2.64 0.40 WO IRHE - 518 g -
0.9 7.0 0.9 2.64 0.40 YIRS 1 518 g -
1.0 45 1.3 4.11 0.45 Y RE 1 18 R L
1.1 5.0 1.2 3.70 0.45 Y RE 1 18 iR AL b 22 L
1.2 4.0 15 4.63 0.45 Y L 1 1B AL 22 L
1.3 4.0 15 4.63 0.45 OB KL £+ ) A A 22 L
1.4 5.0 1.2 3.70 0.45 Y B s 1 18 AL 22 L
15 45 1.3 4.11 0.45 [ i) R 22 L
1.6 45 1.3 4.11 0.45 [y ) iR 22 L
1.7 5.0 1.2 3.70 0.45 WO ERS ) iR 22 L
1.8 5.0 1.2 3.70 0.45 O ERS + g R b 22 L
1.9 5.0 1.2 3.70 0.45 WOERS + i) R 22 L
2.0 10.0 0.6 1.85 0.40 O ERE + A8 iR 22 L
2.1 11.0 0.5 1.68 0.40 RS - Etio) iRk 22 L
2.2 10.0 0.6 1.85 0.40 RS - Etio) iR b 22 1L
2.3 18.0 0.3 1.03 0.40 B B R 518 b2 L
2.4 20.0 0.3 0.93 0.40 ks R ) B k22 LA
25 21.0 0.3 0.88 0.40 ks R ) B k22 (LA
2.6 22.0 0.3 0.84 0.40 ks R i) a2z (LA
2.7 20.0 0.3 0.93 0.40 ks R ) k22 (LA
2.8 20.0 0.3 0.93 0.40 B HEw K518 B 22 1
2.9 21.0 0.3 0.88 0.40 ks R i) a2z (LA
3.0 19.0 0.3 0.97 0.40 P e ) Bk (LA
31 16.0 0.4 1.16 0.40 D =R 518 b % LA
32 16.0 0.4 1.16 0.40 D =R 548 b % LA
33 17.0 0.4 1.09 0.40 D =) 18 k% LA
3.4 19.0 0.3 0.97 0.50 D =R 518 b % LA
35 19.0 0.3 0.97 0.40 D =R 18 b % LA
36 18.0 0.3 1.03 0.40 P = 518 L% LA
37 20.0 0.3 0.93 0.40 P =R 18 % LA
38 19.0 0.3 0.97 0.40 #h B R 518 JEb % LA
39 20.0 0.3 0.93 0.40 p R 48 JRAL 2 1
4.0 19.0 0.3 0.97 0.40 *5 B R 518 % LA
4.1 17.0 0.4 1.09 0.40 ks W 51 EALZE LA
4.2
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